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I.The blackbody radiation is B (T} = (2k &1 ("™ —1}; derive the Wicn
displacement law: 2, T~ 0.2 Ak (20 points)

2 Derive the maximum wavelength shift in the Compton scattering of photons from
electrons. (20 points)

3. The zero-point vibration energy for H, is 0.265 V. Compare the vibration energy
levels of H,, D,, and HD mumerically for the low-lying states. (20 points}_

4.Show that at T = 0° K the average energy of an electron is (3/5) & - (Fermi energy).
{20 points)

5 Evaluate the Lande g factors for *P, and *P,, levels. (20 points)



